Orion Competency Equivalent Code Explanation

[bookmark: _GoBack]After a review of the auditor’s IAF/ OEE codes, an explanation of the meaning may be needed.

The last two digits of the OEE code are very important for the ISO Standard – example “Auditor C” has the OEE code 5305. 

1)      The 53XX denotes Agriculture – the area to be audited
2)      The 5305 denotes Agriculture for (OHSAS) Standard only
3)      First two digits - area to be audited – 53 = [Agriculture]
4)      Last two digits – ISO Standard Competency – 05 = (OHSAS)

“Auditor C” is qualified for Agriculture (OHSAS) audit only. 

 If “Auditor C” wanted to do another ISO Standard “Auditor C” would need to submit that Standard’s Evaluation form, to be evaluated for competency for the auditor to receive the correct last two digit code. [Example of the correct Standard digit codes: RIOS = 08; ISO 14001 = 04; R2 = 07; ISO 9001= 01 etc.]

Here is the number code for the ISO Standards / Programs –

To recap the Orion Equivalent code (OEE code) is made up of 4 digits. 53XX . the first two = area / technical area of activity based on Orion code – 53 = Agriculture. The Standard to be audited will be the last 2 digits. XX. The Standard codes are listed in the table below.
	Code
	Standard / Program

	01
	ISO 9001

	02
	TL 9000

	03
	ISO 13485

	04
	ISO 14001

	05
	OHSAS 18001

	06
	e-Stewards

	07
	R2

	08
	RIOS

	09
	PS-Prep

	10
	ISO 5001

	11
	SEP

	12
	SN9000


















Additional Example – Nuclear technical area for audit - Orion equivalent code = 66; Standard to be audited = ISO 9001 which is 01 – complete Orion equivalent code (OEE) = 66 plus 01 = 6601. An auditor would need the Competency Equivalent form for (66) and the Standard - ISO 9001.

If the auditor wanted to audit the Nuclear technical area for another ISO Standard – example – ISO 14000; that auditor would need to submit the Competency Equivalent form for (66) and the Standard ISO 14001 to meet the OEE code 6604



